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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All guestions are compulsory.

(i) Section A contains questions number 1 to 5, Very Short Answer type questions of
I mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type I questions of
2 marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type Il questions of
3 marks each.

(v)  Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of
5 marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of § marks. In these questions, an examinee is to attempt any one of the
two given alternatives.

dqug — A
SECTION - A
1. Torg 3TYR 9T 9H =0 0 T SRS JHET SIar 8 2 1

On what basis 18 the skin colour in humans considered polygenic ?

2. T SHM (S8] ) F ATIRFT eAlcesh 3T 9T g9R [T T SRt i & 2 1
How 1s lactic acid baeteria beneficial to us other than helping in curdling the milk ?

3. WRAEY o UYSHI H1el hi Siel gie-Tdie ST |t Rt T 7 2 1
Why Western Ghats in India have been declared as biological hot-spots ?

4,
T8 U T 9 Al UgHT 997 3§ HiHeh 9T Sl =T HISTT ST SH 97 H ASS hial ¢ | 1
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Identity the picture and mention the vegetative part that helps it to propagate.

#.--"'-..

“b.-'

5. FoIE-theed (S 9 TR SATHAAl § 91T ST dTel ShararE! (OTGET) We adisy | 1

Write the chromosomal defect in individuals atfected with Klinetelter’s syndrome.

Tue - B
SECTION - B
6. METoEd & 1 e 2
(a) cry IAC STH
(b) RNA AT (RNAI)
Write the functions of

(a) cry l1AC gene
(b) RNA mterference (RNA1)

(a) CFC &1 Q1 9 i@y |
(b) TE AT ol [FY TR AT H =ehd L 3T & 2 2

3¢

/

CFCs — O3 — 0,

|

(a) Expand CFC.
(b) How does it reduce ozone to oxygen ?
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8. TN IR % WAl 3R el 37g o (el & ATHhd TG FAEy | 2

Draw labelled diagrams of stable and declining age pyramids of human population.

9. Tl H HUN oJiead i T FAd el € Alg 3T (i) Muted & Sar &, a1 (i) Fufad =@l

gl 2 2
Jreran

TR AT o I 3R IRYe AMFel i Hi2l, Ihe TRI H 3 Farey adl 378 TURE-G& 97

AT |

What happens to corpus luteum in human female if the ovum 1s (1) fertilized, (i1) not
fertilized ?

OR

Write the difference between the tender coconut water and the thick, white kernel of a
mature coconut and their ploidy.

10. YW HHE-SE gHES & A ey | 39 @R-Ug 2 ARdsh-a1iar Sarsu | 2

Name the first human like hominid. Mention his food habit and brain capacity.

Qqug - C
SECTION -C
1. (a) =9 JTILH MM (SR H 3R AT |
(b) BTS1 &l ST oed oh (o1 Fag79 T Teh G el & 2 3

(a) Daifferentiate between benign and malignant tumours.
(b) Why is colostrum a boon to the newborn baby ?

2. OIRRTqeh HTHH0T -7 Bl & 2 SFHHUT bl §F Ueh U-AT MU drele § 31208l SFTel oht 310 9
T EU UH aF § ¥ Tohad 3ifes offel i & &t 37 3= et 2 3

What 1s ecological succession ? Where and why would the rate of succession be faster
in newly created pond or a forest destroyed by a forest fire ?

3. A Al IRAR | SHITECIAT A1 I 6T e &, 99 39 URAR i [S[El i 79T 9ol °
SR {eTAT I B4 o 37fdes ST &id & | 3

(a) THT -7 BT & ?
(b) T FERT o T AT TATET |

If there 1s a history of haemophilia in the family, the chances of male members
becoming haemophilic are more than that of the female.

(a) Whyisitso?
(b) Write the symptoms of the disease.
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14. (a) USEHEN AR AT H 3 FdET |
(b) TANHE T &IAT & 2 THHT TIT ST hi Witd T TohaT ST & 2 3
(a) Differentiate between exons and introns.

(b) What 1s a plasmid ? Why 1s it selected as a vector ?

15. SIST9Hl T 3199 [t 6l {69 T GHIT Hidl & ? GHSEU | 3
3rar

SISl aTeelT T AT 37T T 39 69 a1 1 Gehd AT & 2 39 vl T IRl o 9
SATET ST 9T H URad ol Tohd & | 39 Uoh o Uea 37 | -1 52T 81 Hohell & 9

How does the study of fossils support evolution ? Explain.

OR

What does Hardy-Weinberg Principle of equilibrium indicate ? List any two factors that
could alter the equilibrium. What would such an alteration lead to ?

16. ASHITSTH T O W 99 IR & 9T Va9 Fal & | AFd IR 39 Sia9-5F i
TN 31T T U HiTeTT | 3

At what stage does Plasmodium gain entry into the human body ? Write the different
stages of its-life cycle in the human body.

17. T adeX pBR 322 o MHGiEd o i Jdley 3
(i) Ori, (ii) rop. 3TX(iii) Hind 111 &I
State the functions of the following in the cloning vector pBR322 :
(1) Ori, (11) rop, and-(111) Hind I1I sites

18. 3= IR I Il T WTE-gheg ol Ueh S0H &1 & | MOET WEifiTeh! § e bl gfg | 6@
b et fHetdl € 2 3

High yielding cattle 1s a good solution for food enhancement. How does the MOET
technology help to increase the herd size ?

19. U SATE-Th & SR A Bt H Ffafad A7 9 & arell Se1eT shi SRS ShifeTu 3
(a) 3Ted fa 9§ o1y aEdl fad deh fuegedt g™ &l Wi |
(b) TREd a7 ¥ Tt Uggd g deh THI9T H g aTeil 9210 |
(c) WicTed & 9 oY agdd o ek 3IS¥™ H &4 dTell "2 |
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Explain the events in a normal woman during her menstrual cycle on the following
days :

(a) Pituitary hormone levels from 8 to 12 days.
(b) Uterine events from 13 to 15 days.

(c) Ovarian events from 16 to 23 days.

20. TR A H YIS i GHET H TG FHROT Fol ¢ (o6 89 3T STol-HREAl i L& HH H
TAEA W & | THA T JaTey o §d T F & aTel AT AN STeA- T Tl 37e6g Y 3l
¢ TGk HRUT 3! STTRAST ST &HaT T &1 St & | 3

Drinking water problem in our urban areas 1s caused mainly because we fail to protect

our water bodies. Explain how accelerated eutrophication chokes our water bodies to
death.

21, ‘OTWOT T BIAT & ? SUFH I[N Bl Gl H ARy o TR Aol el §HEE |
S AT SELIHAT Bl & 2 3

What 1s ‘predation’ ? Explain with the help of suitable examples why 1s it required in a
community with rich biodiversity.

22. L

SUeRT 3T H S o S-51 T Teh 9T 90T T € |
(a) 3 JHF FHILTHISAT BT A FaATST M= 8T ol STl a=df § 9 Fehret felg 70 917 X 9

T TR TR BT
(b) Y’ T KT A9 FATST a7 ST HF WY T |
(c) ‘Z’ 9N T A1 ST adT Jel 8- aTel BAT3T bl Tl ity | 3
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This diagram above shows a part of the human female reproductive system.
(a) Name the gamete cells that would be present in “X’ if taken from a newborn baby.
(b) Name ‘Y’ and write 1ts function.

(c) Name ‘Z’ and write the events that take place here.

gug - D
SECTION - D

23.  G-|EAT HI-KSE. HIIRT H gHU Pl TRl i a@lam 51 H FHOTMcHs YrHeT 38T Bl € |
T el § B BH % 0 3T 0 @hel & GiFET [gariaal & | fHer ®is g g
1Y STRY AT UHE HU 3K 34T YR 310 Thed & SRIRET o hIg & UH HIEhHH ARY
T IleT 59 39 FHST Sl THAT [HAT ST Goh | 39 1T ol i H HIEhT 9 UhR HES
T 9 AR HITT | 4

Peer pressure plays a negative role in triggering smoking habits in adolescents. As a
school captain-list any two activities you would like to organize with the help of senior
students of your_ school and any other two activities you would like your school

authorities to organize for the students to tackle this problem. Explain how these
activities will help in doing so.

ogug - E
SECTION - E
24. DNA YRITTeh! §RT G a9 & STUINT i AT Fiod | <
AT
(a) PCR % U&% Q¥ =5 o faf=1 0N &l U HifST |
(b) TT UHR H fa&iRd DNA F6H 19 F o o0 fohar ST & 2
Explain the application of rDNA technology to produce insulin.

OR
(a) Describe the different steps in one complete cycle of PCR.
(b)  State the purpose of such an amplitied DNA sequence.
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25. (a) UNIRTHE! H AEHRARSHES &t UlshaT &1 SHHNTT U Shifeu | 3
(b) T IR AT AT TIEAT T Teh ATHIRT ARG F15T |
AT

(a) HFE I YehoTeh ATl 1 P ¥ SFRT | 39 ARG H FEfaiad SXa-rsll &l
ATHIRT HITST qAT 3% I TR -

GICAT SHITITERT, I[EHIUSTHHT AT TSI SIfSTehT |
(b) IRV i UlhaT | Y2 3R ol &M bl YTHeRT ol ST HITT |

(a) Describe 1n sequence the process of microsporogenesis in angiosperms.

(b) Draw a labelled diagram of a two celled final structure formed.
OR

(a) Draw a sectional view of a seminiferous tubule of human. Label sertoli cell,
spermatagonia and leydig cell on i1t and write their functions.

(b) Explain the role of pituitary and sex hormones in the process of spermatogenesis.

26. TF IRG i TEFAT 9 t-RNA sl AT bl SARSAT BN | IR (SEAT) TishaT § S9!
Y[HeRT HT U HiTT | 5

AT

3TTTehl Uied T 2T Mol oIS SA~ & aTeAT HeY T Uiem a7 71 € | 39 U o SRy
(STFYRT) 3T 78l & | 3 31 38701 o 4S9 H 39 {8 TR Ul o7 o Tel-Het Shierey

FA T | 39 HIE I (=7 SR WL HIST, q9T IFHI 719 Hf Fd72T |

Explain the structure of t-RNA with the help of a diagram. Describe its role in the
process of translation.

OR

A pea plant producing yellow coloured and round seeds i1s given with unknown
genotypes. Explain how you would find the correct genotypes ot the plants with respect
to the two traits mentioned. Work out the cross and name fit.
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